# PARALLEL TAXIWAY RECONSTRUCTION HAROLD DAVIDSON FIELD VERMILLION, SOUTH DAKOTA AIP #3-46-0056-022-2025 A-9445 BID TABULATION

4/30/2025

					Asphalt Su	rfacing Co.	Soukup Cons	truction, Inc.	Webster Scale, Inc.	
Base Bid			Sioux F	alls, SD	Sioux Fa	alls, SD	Webster, SD			
Item #	Item # Spec # Item Description Quantity Unit					Total Price	Unit Price	Total Price	Unit Price	Total Price
1	C-105	Mobilization (Max of 10% of Total Project Cost)	1	L.S.	\$45,200.00	\$45,200.00	\$104,229.02	\$104,229.02	\$140,000.00	\$140,000.00
2	C-100	Contractor Quality Control Plan	1	L.S.	\$22,500.00	\$22,500.00	\$34,000.00	\$34,000.00	\$35,000.00	\$35,000.00
3	C-102	High Flow Silt Fence	770	Ft	\$3.40	\$2,618.00	\$2.40	\$1,848.00	\$2.50	\$1,925.00
4	S-100	Construction Safety Phasing Plan	1	L.S.	\$48,000.00	\$48,000.00	\$34,000.00	\$34,000.00	\$35,000.00	\$35,000.00
5	P-101	Asphalt Pavement Removal (8" Nominal Depth)	11,686	SqYd	\$5.70	\$66,610.20	\$2.90	\$33,889.40	\$3.00	\$35,058.00
6	P-101	Cold Milling (2" Nominal Depth)	583	SqYd	\$19.50	\$11,368.50	\$19.80	\$11,543.40	\$5.00	\$2,915.00
7	P-152	Unclassified Excavation	23,722	CuYd	\$4.50	\$106,749.00	\$3.95	\$93,701.90	\$6.00	\$142,332.00
8	P-152	Disposal of Excess Material	138	CuYd	\$4.00	\$552.00	\$3.95	\$545.10	\$7.00	\$966.00
9	P-154	Subbase Course (Furnished)	3,921	CuYd	\$39.00	\$152,919.00	\$35.80	\$140,371.80	\$50.00	\$196,050.00
10	P-154	Subbase Course (Recycled)	2,715	CuYd	\$16.00	\$43,440.00	\$5.50	\$14,932.50	\$18.00	\$48,870.00
11	P-154	Geotextile Separator Fabric	10,851	SqYd	\$3.40	\$36,893.40	\$1.75	\$18,989.25	\$2.25	\$24,414.75
12	P-154	Geogrid	2,500	SqYd	\$5.70	\$14,250.00	\$1.80	\$4,500.00	\$3.50	\$8,750.00
13	P-208	Aggregate Base Course	1,811	CuYd	\$52.00	\$94,172.00	\$73.00	\$132,203.00	\$50.00	\$90,550.00
14	P-401	Asphalt Base / Surface Course	2,550.0	Ton	\$66.00	\$168,300.00	\$77.00	\$196,350.00	\$75.00	\$191,250.00
15	P-401	Asphalt Binder (PG 64-34)	166.0	Ton	\$850.00	\$141,100.00	\$1,000.00	\$166,000.00	\$1,000.00	\$166,000.00
16	P-602	Emulsified Asphalt Prime Coat	15.0	Ton	\$1,050.00	\$15,750.00	\$1,265.00	\$18,975.00	\$1,250.00	\$18,750.00
17	P-603	Emulsified Asphalt Tack Coat	5.0	Ton	\$1,150.00	\$5,750.00	\$1,375.00	\$6,875.00	\$1,350.00	\$6,750.00
18	P-620	Pavement Marking	1	L.S.	\$20,400.00	\$20,400.00	\$19,780.00	\$19,780.00	\$20,000.00	\$20,000.00
19	P-620	Pavement Marking Removal	1	L.S.	\$11,200.00	\$11,200.00	\$10,837.00	\$10,837.00	\$11,000.00	\$11,000.00
20	P-620	Temporary Pavement Marking	1	L.S.	\$5,350.00	\$5,350.00	\$5,170.00	\$5,170.00	\$5,000.00	\$5,000.00
21	D-701	18" RCP Arch (Class III)	302	Ft	\$93.00	\$28,086.00	\$91.90	\$27,753.80	\$90.00	\$27,180.00
22	D-701	18" RCP Arch Flared End (Class III)	4	Each	\$1,050.00	\$4,200.00	\$1,224.00	\$4,896.00	\$1,000.00	\$4,000.00
23	T-901	Seeding and Fertilizing	15.0	Acre	\$565.00	\$8,475.00	\$1,568.00	\$23,520.00	\$1,500.00	\$22,500.00
24	T-905	Topsoil (Obtained on Site)	7,949	CuYd	\$4.00	\$31,796.00	\$3.70	\$29,411.30	\$6.00	\$47,694.00
25	T-905	Topsoil (Furnished from Off the Site)	168	CuYd	\$45.50	\$7,644.00	\$21.00	\$3,528.00	\$32.00	\$5,376.00
26	T-908	Mulching	72,600	SqYd	\$0.40	\$29,040.00	\$0.11	\$7,986.00	\$0.15	\$10,890.00
27	TL-100	Field Laboratory	1	Each	\$10,000.00	\$10,000.00	\$1,200.00	\$1,200.00	\$5,500.00	\$5,500.00
28	Plans	Remove and Dispose of RCP Culvert & Flared Ends	145	Ft	\$28.50	\$4,132.50	\$19.20	\$2,784.00	\$25.00	\$3,625.00
29	Plans	Remove and Salvage Taxiway Reflector	41	Each	\$29.00	\$1,189.00	\$27.95	\$1,145.95	\$30.00	\$1,230.00

## PARALLEL TAXIWAY RECONSTRUCTION HAROLD DAVIDSON FIELD VERMILLION, SOUTH DAKOTA AIP #3-46-0056-022-2025 A-9445

BID TABULATION 4/30/2025

					Asphalt Sur	facing Co.	Soukup Cons	truction, Inc.	Webster Scale, Inc.	
Base Bid	l				Sioux Fa	Sioux Falls, SD		alls, SD	Webster, SD	
Item#	Spec #	Item Description	Quantity	Unit	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
30	Plans	L-853, Type II, Style I, Retroreflective Marker	54	Each	\$185.00	\$9,990.00	\$180.85	\$9,765.90	\$175.00	\$9,450.00
31	Plans	Storm Water Pollution Prevention Plan	1	L.S.	\$4,550.00	\$4,550.00	\$1,111.00	\$1,111.00	\$2,100.00	\$2,100.00
32	Plans	Culvert Protection	2	Each	\$96.50	\$193.00	\$111.00	\$222.00	\$85.00	\$170.00
33	01 51 26	Temporary Phasing Work, Electrical	1	L.S.	\$2,300.00	\$2,300.00	\$2,235.00	\$2,235.00	\$2,200.00	\$2,200.00
34	L-108	1/C No. 8 AWG, 5kV, L-824, Type C Cable, Installed in Conduit	513	Ft	\$1.90	\$974.70	\$1.87	\$959.31	\$2.00	\$1,026.00
35	L-108	1/C No. 6 AWG, Solid, Bare Copper Counterpoise Wire, Including Trenching or Plowing, Including Ground Rods & Connections & Terminations	248	Ft	\$4.10	\$1,016.80	\$4.00	\$992.00	\$4.00	\$992.00
36	L-110	Remove & Salvage Existing Cable, Abandon Conduit	476	Ft	\$0.70	\$333.20	\$0.67	\$318.92	\$1.00	\$476.00
37	L-110	Trenching & Backfilling or Plowing for Conduit	741	Ft	\$1.80	\$1,333.80	\$1.71	\$1,267.11	\$2.00	\$1,482.00
38	L-110	Non-Encased, Electrical Conduit, 1-2-Inch, Type I, Sch. 40 PVC in Trench or SDR 13 HDPE Plowed	471	Ft	\$4.80	\$2,260.80	\$4.62	\$2,176.02	\$5.00	\$2,355.00
39	L-110	Sand-Encased, Electrical Conduit, 3-2-Inch, Type III, Sch. 80 PVC in Trench	62	Ft	\$17.50	\$1,085.00	\$16.74	\$1,037.88	\$18.00	\$1,116.00
40	L-110	Sand-Encased, Electrical Split Conduit, 1-4-Inch, Type III, Sch. 80 PVC Around 1-2-Inch Conduit	66	Ft	\$23.50	\$1,551.00	\$22.60	\$1,491.60	\$22.00	\$1,452.00
41	L-110	Lower Existing 1-2-Inch Conduit & Cables	208	Ft	\$8.20	\$1,705.60	\$7.98	\$1,659.84	\$8.00	\$1,664.00
42	L-110	Cable Markers	4	Each	\$200.00	\$800.00	\$192.00	\$768.00	\$200.00	\$800.00
43	L-125	Remove & Salvage Existing L-861T LED Medium Intensity Taxiway Light; Remove & Dispose of Existing L-867 Base Can & Concrete	8	Each	\$170.00	\$1,360.00	\$164.00	\$1,312.00	\$200.00	\$1,600.00
44	L-125	Remove & Salvage Existing Unlighted L-858 Airfield Sign; Remove & Dispose of Concrete & Junction Box	12	Each	\$415.00	\$4,980.00	\$400.00	\$4,800.00	\$400.00	\$4,800.00
45	L-125	L-861T, 30-Inch Elevated, Mode 1, LED, Medium Intensity Taxiway Light (MITL), Blue, Including Base Can	8	Each	\$1,200.00	\$9,600.00	\$1,169.00	\$9,352.00	\$1,250.00	\$10,000.00
46	L-125	L-858R/L Mandatory/Location Airfield Sign, Size 1, Style 4 (Unlighted), Mode 1, 2-Module, Including Concrete Sign Pad	2	Each	\$5,000.00	\$10,000.00	\$4,834.00	\$9,668.00	\$4,750.00	\$9,500.00
47	L-125	L-858R/L Mandatory/Location Airfield Sign, Size 1, Style 4 (Unlighted), Mode 1, 3-Module, Including Concrete Sign Pad	2	Each	\$5,200.00	\$10,400.00	\$5,032.00	\$10,064.00	\$5,000.00	\$10,000.00
48	L-125	L-858Y Directional Airfield Sign, Size 1, Style 4 (Unlighted), Mode 1, 2-Module, Including Site Pad	8	Each	\$4,400.00	\$35,200.00	\$4,266.00	\$34,128.00	\$4,200.00	\$33,600.00

## PARALLEL TAXIWAY RECONSTRUCTION HAROLD DAVIDSON FIELD VERMILLION, SOUTH DAKOTA AIP #3-46-0056-022-2025 A-9445

BID TABULATION 4/30/2025

						Asphalt Surfacing Co.		Soukup Construction, Inc.		Webster Scale, Inc.	
Base Bid				Sioux Fa	Sioux Falls, SD		Sioux Falls, SD		Webster, SD		
Item#	Spec #	Item Description	Quantity	Unit	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	
49	L-125	Spare Parts	1	L.S.	\$2,800.00	\$2,800.00	\$2,710.00	\$2,710.00	\$3,000.00	\$3,000.00	
50	L-125	L-858Y Directional Airfield Sign, Size 1, Style 4 (Unlighted), Mode 1, 3-Module, Including Site Pad	5	Each	\$5,200.00	\$26,000.00	\$5,032.00	\$25,160.00	\$5,000.00	\$25,000.00	
51	L-125	L-858L/Y Location/Directional Airfield Sign, Size 1, Style 4 (Unlighted), Mode 1, 3-Module, Including Site Pad	4	Each	\$5,200.00	\$20,800.00	\$5,032.00	\$20,128.00	\$5,000.00	\$20,000.00	
	Base Bid Total					\$1,286,918.50		\$1,292,292.00		\$1,451,358.75	

# PARALLEL TAXIWAY RECONSTRUCTION HAROLD DAVIDSON FIELD VERMILLION, SOUTH DAKOTA AIP #3-46-0056-022-2025 A-9445 BID TABULATION

4/30/2025

					Double H I	Paving, Inc.	VanderPol D	VanderPol Dragline, Inc. Knife River Midwest, L		
Base Bid	Base Bid					, SD	Mitche	ell, SD	Sioux City, IA	
Item#	Item # Spec # Item Description Quantity Unit			Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	
1	C-105	Mobilization (Max of 10% of Total Project Cost)	1	L.S.	\$159,250.00	\$159,250.00	\$158,710.00	\$158,710.00	\$188,287.58	\$188,287.58
2	C-100	Contractor Quality Control Plan	1	L.S.	\$98,875.00	\$98,875.00	\$60,000.00	\$60,000.00	\$211,459.33	\$211,459.33
3	C-102	High Flow Silt Fence	770	Ft	\$2.55	\$1,963.50	\$3.70	\$2,849.00	\$4.06	\$3,126.20
4	S-100	Construction Safety Phasing Plan	1	L.S.	\$144,325.00	\$144,325.00	\$19,000.00	\$19,000.00	\$19,955.86	\$19,955.86
5	P-101	Asphalt Pavement Removal (8" Nominal Depth)	11,686	SqYd	\$3.50	\$40,901.00	\$4.20	\$49,081.20	\$5.04	\$58,897.44
6	P-101	Cold Milling (2" Nominal Depth)	583	SqYd	\$19.55	\$11,397.65	\$3.00	\$1,749.00	\$3.04	\$1,772.32
7	P-152	Unclassified Excavation	23,722	CuYd	\$3.90	\$92,515.80	\$8.10	\$192,148.20	\$5.28	\$125,252.16
8	P-152	Disposal of Excess Material	138	CuYd	\$6.40	\$883.20	\$15.00	\$2,070.00	\$18.07	\$2,493.66
9	P-154	Subbase Course (Furnished)	3,921	CuYd	\$40.40	\$158,408.40	\$54.00	\$211,734.00	\$55.21	\$216,478.41
10	P-154	Subbase Course (Recycled)	2,715	CuYd	\$12.90	\$35,023.50	\$25.00	\$67,875.00	\$55.20	\$149,868.00
11	P-154	Geotextile Separator Fabric	10,851	SqYd	\$2.75	\$29,840.25	\$2.20	\$23,872.20	\$2.80	\$30,382.80
12	P-154	Geogrid	2,500	SqYd	\$3.20	\$8,000.00	\$3.25	\$8,125.00	\$3.11	\$7,775.00
13	P-208	Aggregate Base Course	1,811	CuYd	\$75.65	\$137,002.15	\$57.50	\$104,132.50	\$60.20	\$109,022.20
14	P-401	Asphalt Base / Surface Course	2,550.0	Ton	\$85.50	\$218,025.00	\$104.00	\$265,200.00	\$153.71	\$391,960.50
15	P-401	Asphalt Binder (PG 64-34)	166.0	Ton	\$750.00	\$124,500.00	\$975.00	\$161,850.00	\$792.68	\$131,584.88
16	P-602	Emulsified Asphalt Prime Coat	15.0	Ton	\$760.00	\$11,400.00	\$500.00	\$7,500.00	\$1,789.32	\$26,839.80
17	P-603	Emulsified Asphalt Tack Coat	5.0	Ton	\$760.00	\$3,800.00	\$550.00	\$2,750.00	\$1,044.71	\$5,223.55
18	P-620	Pavement Marking	1	L.S.	\$21,075.00	\$21,075.00	\$20,500.00	\$20,500.00	\$22,444.87	\$22,444.87
19	P-620	Pavement Marking Removal	1	L.S.	\$11,550.00	\$11,550.00	\$11,000.00	\$11,000.00	\$12,297.34	\$12,297.34
20	P-620	Temporary Pavement Marking	1	L.S.	\$5,500.00	\$5,500.00	\$5,200.00	\$5,200.00	\$5,866.80	\$5,866.80
21	D-701	18" RCP Arch (Class III)	302	Ft	\$105.00	\$31,710.00	\$100.00	\$30,200.00	\$115.24	\$34,802.48
22	D-701	18" RCP Arch Flared End (Class III)	4	Each	\$1,180.00	\$4,720.00	\$1,550.00	\$6,200.00	\$1,858.69	\$7,434.76
23	T-901	Seeding and Fertilizing	15.0	Acre	\$1,670.00	\$25,050.00	\$1,950.00	\$29,250.00	\$2,147.00	\$32,205.00
24	T-905	Topsoil (Obtained on Site)	7,949	CuYd	\$3.65	\$29,013.85	\$7.25	\$57,630.25	\$6.81	\$54,132.69
25	T-905	Topsoil (Furnished from Off the Site)	168	CuYd	\$46.90	\$7,879.20	\$25.00	\$4,200.00	\$26.88	\$4,515.84
26	T-908	Mulching	72,600	SqYd	\$0.10	\$7,260.00	\$0.12	\$8,712.00	\$0.11	\$7,986.00
27	TL-100	Field Laboratory	1	Each	\$15,000.00	\$15,000.00	\$100.00	\$100.00	\$8,318.40	\$8,318.40
28	Plans	Remove and Dispose of RCP Culvert & Flared Ends	145	Ft	\$18.75	\$2,718.75	\$15.00	\$2,175.00	\$69.72	\$10,109.40
29	Plans	Remove and Salvage Taxiway Reflector	41	Each	\$29.80	\$1,221.80	\$31.00	\$1,271.00	\$34.95	\$1,432.95

## PARALLEL TAXIWAY RECONSTRUCTION HAROLD DAVIDSON FIELD VERMILLION, SOUTH DAKOTA AIP #3-46-0056-022-2025 A-9445

A-9445 BID TABULATION 4/30/2025

					Double H P	aving, Inc.	VanderPol D	ragline, Inc.	Knife River Midwest, LLC	
Base Bio	d				Tea,	SD	Mitche	ell, SD	Sioux City, IA	
Item#	Spec #	Item Description	Quantity	Unit	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
30	Plans	L-853, Type II, Style I, Retroreflective Marker	54	Each	\$192.85	\$10,413.90	\$160.00	\$8,640.00	\$181.00	\$9,774.00
31	Plans	Storm Water Pollution Prevention Plan	1	L.S.	\$15,750.00	\$15,750.00	\$2,000.00	\$2,000.00	\$6,737.59	\$6,737.59
32	Plans	Culvert Protection	2	Each	\$93.85	\$187.70	\$120.00	\$240.00	\$106.11	\$212.22
33	01 51 26	Temporary Phasing Work, Electrical	1	L.S.	\$2,375.00	\$2,375.00	\$1,760.00	\$1,760.00	\$1,997.21	\$1,997.21
34	L-108	1/C No. 8 AWG, 5kV, L-824, Type C Cable, Installed in Conduit	513	Ft	\$1.95	\$1,000.35	\$2.50	\$1,282.50	\$2.87	\$1,472.31
35	L-108	1/C No. 6 AWG, Solid, Bare Copper Counterpoise Wire, Including Trenching or Plowing, Including Ground Rods & Connections & Terminations	248	3 Ft	\$4.25	\$1,054.00	\$6.90	\$1,711.20	\$7.86	\$1,949.28
36	L-110	Remove & Salvage Existing Cable, Abandon Conduit	476	Ft	\$0.70	\$333.20	\$0.35	\$166.60	\$0.37	\$176.12
37	L-110	Trenching & Backfilling or Plowing for Conduit	741	Ft	\$1.80	\$1,333.80	\$6.60	\$4,890.60	\$7.49	\$5,550.09
38	L-110	Non-Encased, Electrical Conduit, 1-2-Inch, Type I, Sch. 40 PVC in Trench or SDR 13 HDPE Plowed	471	Ft	\$4.90	\$2,307.90	\$3.45	\$1,624.95	\$3.93	\$1,851.03
39	L-110	Sand-Encased, Electrical Conduit, 3-2-Inch, Type III, Sch. 80 PVC in Trench		2 Ft	\$17.85	\$1,106.70	\$24.20	\$1,500.40	\$27.46	\$1,702.52
40	L-110	Sand-Encased, Electrical Split Conduit, 1-4-Inch, Type III, Sch. 80 PVC Around 1-2-Inch Conduit	66	5 Ft	\$24.10	\$1,590.60	\$57.20	\$3,775.20	\$64.91	\$4,284.06
41	L-110	Lower Existing 1-2-Inch Conduit & Cables	208	Ft	\$8.50	\$1,768.00	\$4.65	\$967.20	\$5.31	\$1,104.48
42	L-110	Cable Markers	4	Each	\$205.00	\$820.00	\$120.00	\$480.00	\$124.83	\$499.32
43	L-125	Remove & Salvage Existing L-861T LED Medium Intensity Taxiway Light; Remove & Dispose of Existing L-867 Base Can & Concrete	8	Each	\$174.00	\$1,392.00	\$125.00	\$1,000.00	\$137.31	\$1,098.48
44	L-125	Remove & Salvage Existing Unlighted L-858 Airfield Sign; Remove & Dispose of Concrete & Junction Box	12	Each	\$427.00	\$5,124.00	\$1,065.00	\$12,780.00	\$1,210.81	\$14,529.72
45	L-125	L-861T, 30-Inch Elevated, Mode 1, LED, Medium Intensity Taxiway Light (MITL), Blue, Including Base Can	8	Each	\$1,245.00	\$9,960.00	\$1,840.00	\$14,720.00	\$2,084.59	\$16,676.72
46	L-125	L-858R/L Mandatory/Location Airfield Sign, Size 1, Style 4 (Unlighted), Mode 1, 2-Module, Including Concrete Sign Pad	2	Each	\$5,150.00	\$10,300.00	\$2,780.00	\$5,560.00	\$3,158.09	\$6,316.18
47	L-125	L-858R/L Mandatory/Location Airfield Sign, Size 1, Style 4 (Unlighted), Mode 1, 3-Module, Including Concrete Sign Pad	2	2 Each	\$5,350.00	\$10,700.00	\$3,800.00	\$7,600.00	\$4,311.48	\$8,622.96
48	L-125	L-858Y Directional Airfield Sign, Size 1, Style 4 (Unlighted), Mode 1, 2-Module, Including Site Pad	8	Each	\$4,550.00	\$36,400.00	\$2,670.00	\$21,360.00	\$3,029.52	\$24,236.16

# PARALLEL TAXIWAY RECONSTRUCTION HAROLD DAVIDSON FIELD VERMILLION, SOUTH DAKOTA AIP #3-46-0056-022-2025

A-9445 BID TABULATION

4/30/2025

						Double H Paving, Inc.		VanderPol Dragline, Inc.		Knife River Midwest, LLC	
Base Bid					Tea,	Tea, SD		Mitchell, SD		Sioux City, IA	
Item #	Spec #	Item Description	Quantity	Unit	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	
49	L-125	Spare Parts	1	L.S.	\$2,890.00	\$2,890.00	\$3,750.00	\$3,750.00	\$4,252.80	\$4,252.80	
50	L-125	L-858Y Directional Airfield Sign, Size 1, Style 4 (Unlighted), Mode 1, 3-Module, Including Site Pad	5	Each	\$5,350.00	\$26,750.00	\$3,600.00	\$18,000.00	\$4,094.28	\$20,471.40	
51	L-125	L-858L/Y Location/Directional Airfield Sign, Size 1, Style 4 (Unlighted), Mode 1, 3-Module, Including Site Pad	4	Each	\$5,350.00	\$21,400.00	\$3,450.00	\$13,800.00	\$3,912.03	\$15,648.12	
	Base Bid Total					\$1,603,766.20		\$1,642,693.00		\$2,031,088.99	

I HEREBY CERTIFY THAT THE FOREGOING IS AN ACCURATE REPRESENTATION AND TABULATION OF ALL BIDS RECEIVED AND THAT THE MATHEMATICS HAVE BEEN CHECKED AND IS TO THE BEST OF MY KNOWLEDGE CORRECT:

PROJECT ENGINEER: 4-30-2025